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Algebra 2 Honors- Week 6 Homework
Monday-
Absolute Value Inequalities Assignment
Solve all questions algebraically, put in interval notation, and then graph on a number line.

1 n+2/<2 2. —4m[<—4 3. 1+jm+1<2
4. Jax-1+2<26 5. 3+29+n<-1 6. —4—3+7v|+9<-59

7. Tara drives an average of 40 miles a week. The miles differ from the average by 15 miles.
Write and solve an absolute value inequality describing the range of miles Tara drives.

8. A city ordinance states that pools must be enclosed by a fence that is 3 to 6 feet tall. Write an
absolute value inequality describing fenced that don't meet this ordinance.

9. Describe what the graph of an absolute value equation with one real solution and one
extraneous solution would look like.

Tuesday- Job Shadowing Day! (No homework)

Wednesday- i
Graph each equation or inequalitiy.
1) y=|x-1|-2 2) y=—|x| -3
3) y=—|x+4| -1 4 y=2|x+3| -4

5) y=-3|x—4|+1 ﬁ”=%.|“1|_3

7 y<-2|x-3| Ejyé%-|x—1|—3

Write an absolute value equation given the graph.

9) LJ 1) LJ

11} While playing miniature golf, you hit the ball off of a wall to try to make it in the hole. The ball is located at
(-2, 6)and the hole is at (1, 6).

Al what point does the ball hit the wall?

Write a function to model this scenario.

12) While playing miniature golf, you hit the ball off of a wall to try to make it in the hole. The ball is located at
(1,2} and the hole is at (6, 3).

At what point does the ball hit the wall?

Write a function to model this scenario,
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Thursday- Study for test tomorrow! Using the study guide below, also on the announcement
page.

Practice Test for Functions Unit
Learning Objectives:
Model two variable situations.
Identify the domain, range, and intercepts of a modeled function.
Given one form of a function, equation, graph, or table, find another form.
Evaluate a function using function notation.
Model a linear function given two points.
Identify the rate of change (slope), in a linear function given the equations, graph or table.
Find the equation of a line parallel or perpendicular to a given line.
Find the inverse of a function.
Solve a system of equations.
Find the solution to a problem using a system.
Graph or write an equation for a piecewise function.
Graph or write an equation for a step function.
Solve absolute value equations.
Solve absolute value inequalities.
Graph absolute value using transformations.
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1. 1am 400 miles from my home. | am traveling at an average 60 miles per hour towards my home. Graph
this situation.

2. Find the domain, range, and intercepts for the scenario in problem #1. Describe how they relate to the
scenario.

3. Write a function based on the scenario in problem #1.

4. Arrare species of insect was discovered in the rain forest of Costa Rica. Environmentalists transplant the
insect
into a protected area. The population of the insects t months after being transplanted is:

_ 45(1+0.6t)
P(t) = (3+0.02t)

after 10 years?
5. Taking a taxi 3 miles costs $7.75 while going 8 miles costs $10. Write a function to model this situation.

a)What is the population when t = 0? b) What will the population be
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Identify the rate of change, slope, of the situation in problem #5. What does this represent to the
scenario?
Write equations for the remaining sides of a rectangle if one side goes through the line f(x) = 3x + 10.
The function, f(x) = 7x + 45, represents the cost of holding a party at Roaring Springs Water Park given
that there is a $45 flat fee and $7 per person. Find the inverse of this function. Describe what the inverse
tells us in relationship to the scenario.
3x =5y =20
4x+y =19
A grain-storage warehouse has a total of 30 bins. Some hold 20 tons of grain each and the rest hold 15
tons each. How many of each type of bin are there if the capacity of the warehouse is 510 tons?

=3 ifx<-2
Graph this piecewise function:f(x) = {2x —3 if —2<x<2

3 ifx>2

Michael is baking cookies for the school bake sale. A pound of butter will make four batches of cookies.
Write a step function to model the total pounds of butter needed given x batches of cookies. Graph the
function.
Solve:a) 2+ 3|2x — 1| =11, b)7 — |4x + 5| = 15
Solve:a) —3|x + 4| > 24, b)|2x+ 1| —-13 < —4
Graph each equation using transformations: a) f(x) = 3|x — 1| + 3, b) f(x) = % |[x + 4] —2

Solve this system: {

Friday- Test Day! (No Homework)



